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GCSE 
SCIENCE A (4461)/BIOLOGY (4411) 

Objective Test Answer Key 
BLY1BP (Evolution and Environment) 

March 2010 
Foundation Tier 

Question Key 

One 

A Excellent eyesight   3     

B Sharp beak    4    

C Strong powerful claws   2     

D Powerful wings   1    
  

Two 

A biodiversity    2    

B pollution    4     

C global warming   3     

D deforestation    1     
  

Three 

A genes     2     

B gametes    1     

C characteristics    4      

D nucleus    3     
  

Four 

A spiral wrack    3     

B bladder wrack    2     

C serrated wrack   4     

D kelp     1     
  

Five 

A sexual reproduction   2     

B tissue culture    3     

C embryo transplants   1     

D adult cell cloning   4     
  
 A B C D 

Six 4 1 1 1 

Seven 3 3 1 1 

Eight 4 3 2 2 

Nine 2 1 1 3 
 



 

GCSE 
SCIENCE A (4461)/BIOLOGY (4411) 

Objective Test Answer Key 
BLY1BP (Evolution and Environment) 

March 2010 
Higher Tier 

Question  Key 

One 

A sexual reproduction   2     

B tissue culture    3     

C embryo transplants   1     

D adult cell cloning   4      
  

Two 

A The trees� leaves live for about 30 years.        4    

B The trees can grow new bark.    1     

C The trees have needle-shaped leaves.   3     

D The trees grow far apart.                2     
 

 A B C D 

Three 4 3 2 2 

Four 2 1 1 3 

Five 4 3 3 3 

Six 1 4 3 3 

Seven 2 3 4 3 

Eight 2 4 2 3 

Nine 4 2 1 3 

 
 

 








